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PART
Chose the best response.

It's to expensive.
It's over there on the chair.
I took mine to the library.

e o p

I haven't read it.

No, thank you.
Only if you do.
About six-thirty.
Anything is fine.

P T

Because it was too late.
Good idea.
I'm not sure why.

oo

It's playing now.
. Sure.

. Great.

a
b. Pretty much.
c
d. Not so far.

5. a. She's probably busy with work.
b. She's going in two weeks.
c. She never knows what to keep.
d. She doesn't have it any more.
6. a. Yes. I called him yesterday.
b. No, thanks. I'm fine.
c. Yes. We're doing the same thing.
d. That's okay. I was happy to do it.
7. a. Nine-thirty.
b. Sixty degrees.
c. About eight meters.
d. Almost twenty.
8. a. She finally finished it.
b. She didn't come in last.
c. She's actually Pretty fast.
d. A couple of days ago, I think.
ENG



9.

11.

12.

13.

a. No. Please have a seat.
b. No. Go right ahead.

c. Yes. I thought so, too.

d. Yes. Please help yourself.

That's okay, I'll look elsewhere.
That's okay, I don't mind the one you have
Don't worry, I am sure one is enough

o T

Don't worry, I don't have any either.

a. Over an hour.

b. Not yet.

c. Just a moment, please.
d. I have a few minutes.

. Just now.

. It's all gone.
On the train.

. In awhile.

00 o

Yes, I hope so.
No, I don't think so.
Tomorrow.

oo

Chicago.

ENG2002
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PART

Chose the sentence which is closest In meaning to the one you hear.

14.

15.

16.

17.

18.

19.

20.

21.

ENG
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o T

The woman doesn't want to speak with him.
The woman cannot remember his name.
The woman doesn't recognize him.

The woman hasn't seen him yet.

It costs nearly 90 dollars.

It costs less than 85 dollars.

It costs about 45 dollars.

It costs between 8 and 9 dollars.

The crowd has been waiting a long time.

The sky has been getting more overcast all day.
People have been trying to get inside all day.
The clouds are hiding the top of the building.

I don't expect to do very well on tests.
The next test will be more difficult.

I thought my test results would improve.
The tests were not that hard after all.

The door is locked already.

The door needs to be locked.

You need to knock before entering.
I'm sorry I forgot to knock first.

Bill is getting too old for tennis.

Bill thinks it is too cold for tennis.

Bill is not well enough to play tennis.

Bill needs to warm up a bit before playing tennis.

I missed the weather report because I was listening to a concert.
Bad weather interfered with the broadcast of the concert.

A weather report interrupted the broadcast of the concert.

Last night's concert was cancelled due to bad weather.

Her English improved when she went overseas.

She needs to go abroad it she wants to improve her English.
Even though she's lived overseas, her English is not very good.
Her English is quite good, even though she's never been abroad.



22.

23.

24.

25.

S S SRS

o T

o oo
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The business picture is slowly getting better.

The economy has not improved since last month.
The most recent figures couldn't be worse.

The economic report is late coming out this month.

Jack's plane arrived safely in San Francisco.

Jack's wife is delayed in San Francisco.

The weather in San Francisco caused a flight delay.
The flight to San Francisco has been delayed

The Safest way is for you to use registered mail.
The cheapest way is to send it by sea mail.

The fastest way is for you to carry it there

The easiest way to get it there is e-mail.

There is growing concern about earthquakes in the area.
The Social unrest in the region is decreasing.

The events in that area have not been widely reported.
The political situation in the region is deteriorating.
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PART

Listen to the dialogue, then choose the best answer to the question.

26.

217.

28.

29.

30.

31.

32.

In total, how many trips has the woman made to Dublin?
a.One

b. Two

c. Three

d. Four

What day is the test?
a. Monday

b. Tuesday

c. Wednesday

d. Thursday

What does the woman mean?

a. Her trip took less time than she anticipated.

b. She thought she would arrive before dark.

c¢. There Were fewer traffic lights than she thought.
d. She had originally hoped to arrive earlier.

What does the man mean?

a. Heisn't bothered by the cold.

b. He thinks his jacket is warm enough.
c¢. He forgot to bring his jacket.

d. He doesn't expect cold weather.

What is Mark doing?

a. He went to get his wallet.

b. He is catching up on some work.
c. He is trying to save some money.
d. He is waiting at the theatre.

What are the people talking about?
a. Cleaning a room.

b. Kindergarten.

¢. An old book.

d. A photograph

What does the woman mean?

a. She didn't understand what the man said.
b. She'd like to do something with the man.
¢. She wants the man to remind her again.
d. She didn't know the man had plans.
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33. What does the man mean?

po TP

He plans to join the American football club.
He is tired of belonging to clubs for now.
He wants to play rugby for another year.
He'll probably try something totally new.

34. How does the woman feel about the man's behavior?

oo

She is amused by it.

She is confused by it.

She 1s concerned about it.
She is angry about it.

35. What does the man say about Walter Stewart's new novel?

oo

He began reading it, but soon became disappointed with it.
He read a good review of the book and plans to get it soon.
Even thought he likes the author, he hasn't read it yet.

It's the first book by Stewart that he actually likes.

ENG
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PART
Listen to the talks and answer the questions after each one.
Questions 36, 37, 38, 39, and 40.

36. What is the topic of this talk?
a. Arecently discovered star.
b. An unusual kind of sea chameleon.
c¢. An improvement in crystal technology.
d. A particular kind of starfish.

37. What is the most surprising thing about the object being described?
a. It has five sides.
b. It has the ability to see.
c. It has the ability to change colors.
d. It moves in unpredictable ways.

38. What do researchers think their discovery may help them develop?
a. An artificial eye.
b. A new kind of crystal.
c. New types of computers.
d. A genetically-engineered fish.

39. Based on this talk, what can we infer about most primitive marine creatures?
a. They do not see very well.
b. They cannot move very quickly.
c. They are affected by the movement of the stars.
d. They do not have many natural enemies.

40. Which of the following probably looks most like the object being discussed in this
talk?
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Questions 41, 42, 43, 44, and 45.

41.

42.

43.

44.

45.

About how many public schools were there in the-United States in 1999?
a. About 10,000.

b. About 50,000.

c. About 90,000.

d. About 140,000.

What is the estimated cost per student to make the school repairs nationwide?
a. $270

b. $700
c. $1,700
d. $2,700

About how many public school students in the U.S. are believed to attend schools
with buildings that need repair?

a. About one-fourth of all students.

b. About one-third of all students.

c. About one-half of all students.

d. About three-fourths of all students.

How much are public school enrollments expected to increase nationwide over the
next ten years?

a. 10%

b. 15%
c. 37%
d. 42%

Where in the United States is the increase in student enrollment expected to be the
greatest?

a. The East.

b. The North.

c¢. The South.

d. The West.
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